142/Comm UG/1st Sem/BCOM-I-GE-T-1/19

U.G. 1st Semester Examination - 2019

COMMERCE
|GENERIC ELECTIVE]
Course Code : BCOM-H-GE-T-I
Microeconomics

Full Marks : 60 Time : 24 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their

own words as far as practicable.

1. Answer any ten questions: . 2x10=20
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Define supply.
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Comment on the value of cross price elasticity
when the goods are complementary to each other.
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Draw a demand curve for giffen goods and
comment on the shape of the demand curve.
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Show that, , |

Average Cost = Average Fixed Cost + Average
Variable Cost.
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v) Draw average fixed cost cur\_fe and Commer, s
1ape.
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vi) What are the conditions for profit maXImIZatl

" in perfect competition?
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vii) Define Marginal "Rate of Technical SUbStitution
(MRTS).
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viii) What will be the shape of an isoquant if the
factors of productlon are perfect subst1tute‘7 lee
- diagram. . | ‘
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ix) Draw the demand curve of a firm under perfect

~ competition and state the value of prlce elast1c1ty
on this demand curve. |
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x)  Why it is not possible to draw supply curve under
| monopoly?
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- Derive the value of MR, when the value Of price
. elastlclty of demand is one.
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xii) What are the conditions for succéssful price
discrimination?
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xiii) A producer under perfect competition is not a
price maker— why?
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xiv) What do you mean by supernormal profit?
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xv) What do you mean by. monopolistic competition?
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. Answer any four questions: ot 5x4=20
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i) Write a short note on slope of mdlfference curve.
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ii)  Write a short note on different values of own
price elasticity of demand. v ' A
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111) Describe the state of short run equlhbrlum of a
firm in perfect competltlon W1th supernormal e
profit. ' | |
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iv)  Briefly discuss the concepts of Ridge lines and

~economic reglon of productlon ‘
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Using demand and supply mechanism show how
equilibrium price changes when income of the
consumer increases.
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Show that a discriminating monopolist charges
higher price in that market where price elasticity
of demand is lower.
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Answer any two questions: - 10x%x2=20
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ii)

iii)
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-Describe the determinants of elasticity- of demand.
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What is price effect? Show that price effect can
be decomposed into substitution effect and
income effect. ' : 2+8 '
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Write a short note on klnked demand curve model
of oligopoly.
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| Discuss the short-run equilibrium of a firm under

monopoly market
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